|
,t_l(l‘i TW'/’ /OIMLCS nt«p( Lmzar A,/f?wx}szws
| -

fumo.w o sarbe  has Mfumt)m »‘p(xv;) whore £ has

Cath{\ln\uSV\S /)M“ ( (AM\M%\W’! mm{' WL P(Xa“l ’h) Lﬂ a ImumL

an Q«vpuu,
/N

X

\

—

e SR TN
LAY 7
- | u wamm plane b S

N/ )

iR
7~ T 9 )
o '

A f\\
7 O %97

R

The kaﬂl aUri\/a“ \jwf Bx‘F ﬂn/{ 9@1(' Con__\oe uswf {'o CAL“—’(WMI:

m’mowl les Fhat  are mm h H Sarbiee S=1C0)

§
| Y
|
i

1vws S‘M.A o @pline  Hnul P clld He

1 7
#MWZ g to S ﬁ P, Mo‘l‘d 7}:5.

e paid b fud  an eqmnlw&n of s ﬁuymf [p[MM/

Tf 2={ABL) it sprwal fo o plone,

M m Cgﬂf\hm af T’;/( K

AGex) r Rlyw,) 4 C(x%)=0

D'(Y'W:(Jﬂ? 7_7/1%”/1 L\A C Mol .&u#\«;? @:-é M.v{ L"' -“Bé‘\
/ g ! C !

we  ghfa

2= 2, +a (x)+ b(3-4,)




$7

’l}lcw',? e Nace Y=Yy we Coe Hnd

7=t 4 (xX)

[ (S ‘/’Lw (,%W ) o-f ‘H/w {“amhml '/M olb“ﬂfm/r»{j L\a ‘H/u,

Tcm/‘}\:fs\ oim\/a{ﬁ\}\e B_)Q'FQC_Q Brn) ’ 55 as QHC [)Ce VL.

)’t)m}‘[afjh. b= 91@1@()(0.%)
71 7 7

T//ws,. Hee ,D(ww.m?g Llar %uo\ha:» K

7;{: = #» ‘f'~ Dx{: (Xo;%u\(\-("Xb) t 9\4'{'\6‘55)‘4&)(‘4’\10)

Wn?‘wm 1L H.3 WM& We  Can _h:a,arx 2 2 & ﬁwl(\aw o'p

X nm{ ?_ W JAA(LR

#-P (X,VL) »V Zs + QXF(Xwﬁ )(X~Xo) Bm[(xb)\ﬂ )(‘4 %)
Lf 7

The 1C:Ac+ma Tﬂo (3 @”a( sz 7’“01&"2#«‘/36\/\) o inear

a’JMth/»\@{W&m 70 f rx+ lp,

Tf we et Ip:(?(o/‘;h) . Fun

!
1

|
i

)
l_l;o-p(x”‘?): ‘F(p) + oxf (lp) (x-X) + 9‘410 (P)(“}"?b) !

% Tl fun od o be e fret —order Togh agpmimdin |

1 |
01[41) ap ‘P j'}' {)L I 3




Consider Hoe dlip%‘c PamLufoR/l? Z= 2x% 4 \;712

Px.

FIM(ML‘HU/ lrm"«%u)l‘»ow 7} at f’(u}})}

oud

%,, &z,n ot Hie f'hw)wﬂ" /m,..& 7125'

Iy = Yx QX%CP\=L+

9% 7= lx} 9\4 %(p)= 2

S2 T,}z 7+ Y(x-1) 1-.264 I)

-‘+x+2w F3-y-12

So z = Yx 4+ 22 = 3 Gl'mj 7’?5‘3

2-9x -2y +3=0

TL\,LQ& e l/)"—m“l-y fh/\/b Jrﬁ#&dm} WA?I'J 0/[ /coll;w; 07L HHee

Fin ‘HNM

| his (><,;4) 2 rnear" P Hn VC(X,’»;) %7}{ (x9).

EX

L Elimde the wlae of  FOLLD  fow for st xample.

L0 10) 2 TR0 = 400) +2(10) =3

=442 -3
= bbb ~3
= g‘é
H;\,J 0[0 we m‘l'eY’Pvf/‘l’ ‘H/u's’? A
AR -
\ ‘ /7 / // s BAN
\ - =,/ /]~ acinal P’r v T Sarfre TCEY
\\ 7‘“' e P’{‘ on oo *(—nmumi' Almu ‘@Tf‘
;?\/Z;M > ’f[oaw, (14,0 . e L\.am/?n{' s
\ / { D.s'){\ ' Ra  ap@Xwidiin e F e Luu%1+ ]
) A CITN of TCF) abave  (1LOY, 7

A e CH)H) °>




57

Food Tie  linearizehon mb ‘F(Y/vﬂ: 3t Yy ;9?

ot W’MML ,"(2)?)

F(Iﬂ): 377' l?‘(l)"]([) T ?,},g_f} = 9 .

xF ()= Y

9%1[(@: -9

50

Lt C=£0) + 0fp) (o) v 2uf () y-y4)

= 1 + $(x-2) +(‘®(\9~I)

S 24 Yx -8 —Tv +9

14

= 3+ Yx ~9y
J

= F“’/‘ﬁ) I

/
The /(WV}%{“H;V» 01(\ @ [(,,;lwr ‘FWMA&{M;‘/‘ S lv'hehch

Db [ Lh 2T Bg) s than £ 5 dilfeeedibly of Gob) f A
Con L‘(; {’,50’0\/‘?54(%( lgm o 1tb\fm
Az = Hx‘FCa,L)AX + 9\9](‘(0\1103 A\/} £ g Ahx 1’52AV(;L)
i whet g, —0 as (AX,A\Q) "7((5}0).
® i-r':?-‘/, = £ 016{:10 IIHL (I‘[' P(ﬁL) 't ‘ﬁ\z/ hvm&ml ﬂmz?/ frf -
;§IF§ a }}mm? aﬁﬂvb&lma%b\n ’rb £ a' P
Thtote] TF oo parhal dovsboes B and b cit wnr Gf)
, an are }mﬂ\'mmwé, Hien ‘F 5 of U,z a+ (aL)




Lo

Exl

f (x,g\, =xe ¢

Sho Fod F 0 SHWL 9 d f

hm{{m Lf A, Use K "\’ﬂ’ﬁVDX) make (1. ! ‘Qél)ﬂ,.,_w_,__

xf=xye™ + &7 - (nytl])et N
: y ( \MT]'\ Al (/o\«%\ua\w
__?_zoﬁc’ e r
J
'F(‘/O): l "} .
; [ LF(X,‘VQ)Zi+//X«l) +1(y-0)
oxf (0= t)e’ = [
( = X tuw
9\;;F ) = Fel= | ) J )

Then  F 000 % LECL1F00) = 1l—00\ = | .

The aa‘(ml Wll/w i3 LI ng'" % 093542

Diffeventy |

Cale T wvesus (,alc n

dx= Ax

cLVL: AYY
1 (]

Az= £ 0o A G tay]) - £0x9)

dz = Lf (uy) = f (y)

Flxer] + Dsnf[m) AX__t Oyt () 7 f L)

n

xf (xy) ) dx 4 DmC [Xy) JvUL

j;Ja

)\

9%.\\(4-9%4

X o




¢l

L Recall i Gle T

I
Lx+dx) » f) ¢ olv(},

Now (¢  (ale TL:

————

POty i dy) % F£0a9) ¢ o2

—

d/\amlg

| We can use  thi 'H qlﬂgm\wﬁk d na/8 W ot gwa
Hie Mo dongin

Eqll Lt 2= X2+?X\A’, —y>

Rz

Oxf- 2% TB% D

Q

2= (1x43) dx_+ (3x2y) iy

dy b= I Ly )

51_[}0 Ooy)  Cuangs tom (23) b (205 2.9)

/',o\m,ﬂlnv‘e, The \/MlML; of A2 awd A%-

F3)= 2"+ 20)0)- 3%

=4 + 12 -9

I |
dx= 005 ) %f (23 = 2()38) = 4ta=13
i\g-— - 0.0% J 9\34}(2,3) = 3()-2(3)= 0

So dz= 13 (ner) s (O)-00M) = 065

od £ (2.05,29%) = { (5 + o.os,’s} o) * £(23) + dz

= 71 t 665'

= ‘7‘65’

' -ﬂAL ma‘w\h vl Op' Ar @ 0'(”7"/? (o

205y 2:96) = 7. L9419,




Funchons _of wa Vavinbles - w=-€(k,3;,2)

>
dw= ga-dx ¢ 22"’—.9&? F R da.
z

-[lhon’n= [+ x lg(x?-S') } o)

£xy) = x’g" BRI

'HK:\'»)= e"x7cas~§ at Cf_,o)




